=03

= 3, Rate

Shape

=0.2

= 3, Rate

Shape

=01

= 3, Rate

Shape

800 900 700 200 000
(1 = ares ‘g = adeys ‘x)ewwebp
T T T T T T
S0°0 700 €00 200 T00 000
(1 = ares ‘g = adeys ‘x)ewwebp
T T T T
ST00 01700 S00°0 0000

(1 = ares ‘g = adeys ‘x)ewwebp

10

10

10

=0.6

= 3, Rate

Shape

=05

= 3, Rate

Shape

=3, Rate=04

Shape

T T T T
ST0 0T0 S00 000
(1 = ares ‘g = adeys ‘x)ewwebp
T T T T T T T T
¥T°'0 ZT'0 OT0 800 900 +00 <200 000
(1 = ares ‘g = adeys ‘x)ewwebp
T T T T T T
010 80°0 900 00 200 000

(1 = ares ‘g = adeys ‘x)ewwebp

10

10

10

=09

= 3, Rate

Shape

=0.8

= 3, Rate

Shape

=0.7

= 3, Rate

Shape

T T T T T T
S0 0c0 ST0 0T0 S00 000
(1 = ares ‘g = adeys ‘x)ewwebp
T T T T T
0c0 STO 0T0 S0°0 000

(1 = ares ‘g = adeys ‘x)ewwebp
T T T T
ST0 010 S00 000

(1 = ares ‘g = adeys ‘x)ewwebp

10

10

10



